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Answer any Three of the following questions.
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YRscustiell ustugll 5. 14
Carry out analysis of variance from following data and test the null hypothesis at 0.05
significance levei.
Ay (233 Ay (SL4)
Ay (Urban) A2 {Rural)
B¢ ([Qetauat) B, ([Qsuay) Bq ([Qotst) B, ([Asua)

Bi {Arts) B2 (Science) By (Arts) B, (Science)
Co(Bl5210) | Co(Bl5A) | C(AsAAY | C2(BlsAA) | CBLSRRA) | Co(SlsTRAY) | C(ELsRAAY Ca(8s31A
Cy(Boys) C»{Girls) C+(Boys) C,{Girls} C+{Boys) Ca(Girls) Cq{Boys) Ca{Girls)
05 11 04 04 03 01 09 06
10 10 06 04 10 06 06 04
12 09 02 07 04 04 08 05
11 07 05 02 06 05 04 06
10 06 03 08 07 09 02 04
2. wddeoll sl Gulol 531 o1 WA B wrell [QauRgLll wxzudl usL 14

Test the homogeneity of variance of the following data by using Bartlett's test.
°§9ﬂ {Groups)

{ H ] v
20 07 30 15
27 12 25 10

19 10 20 22
27 22 12 08
20 20 17 04
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Calculate contingency correlation co-efficient from the frequencies given bellow and find
out if level of Anxiety significant relationship with level of Adjustment?

HollelR UHRA % (Adjustment)
(Stress) (Lot (Low) | ALHloA (Moderate) | GRU(High)
[olaot { Low) 05 15 10
UMl (Moderate) 10 22 08
GU(High) 12 15 03
e
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5.

(A) Compute Tetra choric Correlation{rt) from the table given below:
uBdcl - Y (Varisble - y) WRaed - X (Variable - X)

Social adjustment Salesmanship

WAUSN (unsuccessful) Us N (successful)
ART A B (Well adjusted) 10(B) 40(A)
U WAUBct (Poorly adjusted) 35(D) 15(C)

(o) N5 YoAAHL UB-3 ol YR-591 B2Cll BBl Bl wlel ol oll elloll iRl A ol
oot B, il 1R A well 518 usdivitlsell alalctdl 53| U Yot URscUstloll ustugll
0.05 U5 clioll saul s, 07

(B) Shown below are the number of personswho answered ‘Yes’ or ‘No’ to question - 3 and question-5
of a questionnaire. Calculate the Phi-coefficient of correlation fromthis Data and testthe null
hypothesis at0.05 level of significance.

ysl - 5 Y# — 3 (Question-3)
Question -5 il (No) &l (Yes)

&l (Yes) 15 (B} 45 (A)

alt (No) 40 (D) 20 (C)

o8 W WG uzell Rcdlat aid@d Bls Ros s izl Yot URsCuUotlol usiell 5. 14

Test the null hypothesis by using Wilcoxon matched pair Sign ranks test from following data.
1] 213|456} 7819110

BLeAN USCl(Before Study) |12 | 18 | 29 | 13|13 [19| 17 | 16| 20 | 21
VAR GULE (After Study) 17117 124 | 13|16 18| 19| 28 | 26 | 26

A2 e R gL SRt ‘@ 5AAA Gulat 53 Yt URsCUetell Asdll 52U 14
Test the null hypothesis by using Cocharan Q test from following data.
uglddl
1 2 3 4 5 6 7 8 9 10
(Methods)
[ i 0 i 1 0 0 1 0 0 0
i 1 1 1 1 1 1 1 1 1 1
L 1 1 0 0 0 1 0 0 0 1

AUd@ct s2ctl AR geletl YARAUAR AR YELYEL URERRAML AA YHIL Yidlsl Ancl.
5655 Nototl sriscell BHw(l Qe Qauy < UR @R a2etl dslatctoll udsdl 0.05
seil UsLAL. 14

Subject of four matched groups obtained the following scores under the Four different
Conditions. Carry out Frideman'’s two way analysis of variance rank test. Test the significance
of the conditions at0.05 levels of significance.

Conditions(K)
Groups (N) | I m v
A 13 25 42 38
B 40 28 25 14
C 37 33 44 36
D 45 54 31 18

(P.T.0.)

g s HAAsUBs 5AE UR YU~ A(N=10), %Y B(N=7) ¥ (U C(N=5) &l Ylleyliedisl
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The scores on a psychological test obtained by Group- A(N=5), Group- B{N=7) and Group-C
(N=10) have been given bellow. Using Kruskal-Wallis test verify the null hypothesis that the
three groups of the subjects come from same population and also interpret your finding.

1——g'roups Scores
A 27 19 31 29 24 § 30 | 28 34 | 221 43

25 17 15 | 21 | o8 | 13 | 18
C 17 iS5 23 | 16 | 10

o]

Qelol - 2 (Section - 2) (08 Marks)

oflDetl YAleoll ettol VUL, (SIEURLUR)
Answer the following questions {Any Four} 08
(1) B- =l [aure ERRREENE sisstarllal wybl 8. (uada Qe a@a)

Three-way analysis of varianceisa_______ statistical method. (Parametric / Non-parametric)
(2) 58 wdscloll s&U Qs atd RQawela (Ga) uds aeldl seil sél aAstA? (0.10 / 0.03)

Which significant levels can be called the most reliable (Higher) level of significance? (0.10 / 0.01)
(3)wd} Qe Bnct st 512 s uc 8 dlal e gt ulR gcuotlol cll51R A B, (U3 1 Wig)

The null hypothesisis accepted when the table value is larger than the calculated vaiue. {True / False)
(4) wURldL useLHLs (C) URlart NN wsdolu vt B, (wulda s @Qatyruf@ay)

The contingence of coefficient (C)testis a_ correlation method. (Parametric / Non-parametric)

(5) Blauret ‘@ sALL A Us yrau@a ul@ B, (3 / vi)

The Cochrane 'Q' test is a Parametric method. (True/ False)
(6) 538 afda As-1oll Qure @QeAne P uslagl (sW3) ueL s WA B, (W37 WE)

The Kruskal-Wallis one-way analysis of variance is also called the ‘F’ test. (True/ False)
(7)ot (B adls Sla R Yo uRscustl aclslz wa, (w3 / W)

When calculating value is significant, Null Hypothesesis accepted. {True / False)
(8) R 2R ot WRaddl sl A8 U aclsll A AL sl 8l QA aoll uzsctel Aogetl ___ oot

(2x3x2 | 2%2%2)

if there are three independent variables and there are two levels of three variables then its factorial
design becomes L (2%x3x2 [ 2%2%2)
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